

# A modification of an elementary numerical inequality

**Krassimir T. Atanassov**

Dept. of Bioinformatics and Mathematical Modelling  
Institute of Biophysics and Biomedical Engineering, Bulgarian Academy of Sciences  
105 Acad. G. Bonchev Str., 1113 Sofia, Bulgaria  
e-mail: krat@bas.bg

**Abstract:** It is proved that for every real numbers  $a_0, a_1, \dots, a_n$  ( $n \geq 1$ ):

$$\sum_{k=0}^{n-1} a_{k+1} \cdot (a_k - a_{k+1}) \leq \frac{1}{2 \cdot n} \cdot \sum_{k=0}^{n-1} a_k^2.$$

This is a modification of an inequality, previously introduced by the author.

**Keywords:** Arithmetic functions, Inequalities.

**AMS Classification:** 11A25.

*In memory of Prof. Antal Bege*

## 1 Introduction

Let real numbers  $a_0, a_1, \dots, a_n$  ( $n \geq 1$ ) be given, where  $a_0 = 1$ . In [1] it is proved the validity of the following inequality:

$$\sum_{k=0}^{n-1} a_{k+1} \cdot (a_k - a_{k+1}) \leq \frac{n}{2 \cdot (n+1)}.$$

Obviously, this inequality is a generalization of the well-known inequality

$$a \cdot (1 - a) \leq \frac{1}{4}.$$

A modification of the above inequality has been discussed by L. Beran and E. Novakova in [2] in the form

$$\sum_{k=0}^{n-1} a_{k+1} \cdot (a_k - a_{k+1}) \leq \frac{n a_0^2}{2(n+1)}$$

for given real numbers  $a_0, a_1, \dots, a_n$  ( $n \geq 1$ ).

A modification of the last inequality is introduced and proved in another way by I. Coope and P. Renaud in [3] in the form

$$\sum_{k=1}^{n-1} a_{k+1} \cdot (a_k - a_{k+1}) \leq \frac{(n-1)a_1^2}{2.n}$$

or

$$a_2 \cdot (a_1 - a_2) + a_3 \cdot (a_2 - a_3) + \dots + a_n \cdot (a_{n-1} - a_n) \leq \frac{(n-1)a_1^2}{2.n} \quad (2)$$

for given real numbers  $a_1, \dots, a_n$  ( $n \geq 2$ ).

## 2 Main results

Now, we shall construct a new form of the initial inequality, modifying (2) to the form

$$a_1 \cdot (a_0 - a_1) + a_2 \cdot (a_1 - a_2) + a_3 \cdot (a_2 - a_3) + \dots + a_0 \cdot (a_{n-1} - a_0) \leq \frac{(n-1)a_1^2}{2.n} + a_1 \cdot (a_0 - a_1), \quad (3)$$

where  $a_0 = a_n$ .

Let us define

$$A \equiv a_1 \cdot (a_0 - a_1) + a_2 \cdot (a_1 - a_2) + a_3 \cdot (a_2 - a_3) + \dots + a_0 \cdot (a_{n-1} - a_0).$$

Therefore, (3) has the form

$$A \leq \frac{(n-1)a_1^2}{2.n} + a_1 \cdot (a_0 - a_1). \quad (4')$$

Now, let us put in (3)  $a_{i+1}$  instead of  $a_i$  for  $i = 1, 2, \dots, n-1$ . Thus we obtain

$$a_2 \cdot (a_1 - a_2) + a_3 \cdot (a_2 - a_3) + a_4 \cdot (a_3 - a_4) + \dots + a_1 \cdot (a_0 - a_1) \leq \frac{(n-1)a_2^2}{2.n} + a_2 \cdot (a_1 - a_2), \quad (5)$$

and hence

$$A \leq \frac{(n-1)a_2^2}{2.n} + a_2 \cdot (a_1 - a_2). \quad (4'')$$

Repeating this substitution in (5), we obtain

$$a_3 \cdot (a_2 - a_3) + a_4 \cdot (a_3 - a_4) + a_5 \cdot (a_4 - a_5) + \dots + a_{n-1} \cdot (a_0 - a_{n-1}) \leq \frac{(n-1)a_3^2}{2.n} + a_3 \cdot (a_2 - a_3),$$

i.e.,

$$A \leq \frac{(n-1)a_3^2}{2.n} + a_3 \cdot (a_2 - a_3) \quad (4''')$$

etc. Summarizing the inequalities  $(4')$ ,  $(4'')$ ,  $(4''')$ , etc., that are  $n$  in number, we obtain inequality

$$n.A \leq \frac{(n-1)}{2.n} \cdot \sum_{k=0}^{n-1} a_k^2 + A.$$

Therefore,

$$A \leq \frac{1}{2.n} \cdot \sum_{k=0}^{n-1} a_k^2.$$

Hence, it is valid the following

**Theorem:** For every real numbers  $a_0, a_1, \dots, a_n$  ( $n \geq 1$ ):

$$\sum_{k=0}^{n-1} a_{k+1} \cdot (a_k - a_{k+1}) \leq \frac{1}{2.n} \cdot \sum_{k=0}^{n-1} a_k^2.$$

It is a new form of the initial inequality.

## Acknowledgements

The author is thankful to Prof. J. Sándor for his valuable comments.

## References

- [1] Atanassov, K., An elementary numerical inequality. *The Australian Mathematical Society Journal*, Vol. 24, 1997, No. 5, 182.
- [2] Beran, L., E. Novakova, On an inequality of Atanassov. *The Australian Mathematical Society Journal*, Vol. 25, 1998, No. 5, 234–235.
- [3] Coope, I., P. Renaud, A quadratic inequality of Atanassov. *The Australian Mathematical Society Journal*, Vol. 26, 1999, No. 4, 169–170.